
match/mismatch: s(ai , bj ) =


1 if ai =aj
−1 if ai 6=aj

indel: −δ = −2

initialization: Mi,0 = 0 M0,j = 0

recursion:
Mi,j = max

8>><>>:
Mi−1,j−1 + s(ai , bj )
Mi−1,j − δ
Mi,j−1 − δ
0
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0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0

0 1 0 0 0 0 0 0 0 0 0 1 0 0 1 0 1 0
0 0 0 0 0 0 0 0 0 0 0 1 0 0 1 0 1 0
1 0 1 0 0 0 1 0 1 0 1 0 2 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0 2 0 1 1 0 1 0
0 1 0 1 0 1 0 0 0 1 0 0 1 0 0 2 1 0
0 0 0 0 2 0 0 1 0 0 0 0 0 2 0 0 1 2
0 0 0 0 0 1 0 0 0 0 0 1 0 0 3 1 1 0
0 1 0 1 0 1 0 0 0 1 0 0 0 0 1 4 2 0
0 0 0 0 2 0 0 1 0 0 0 0 0 1 0 2 3 3
0 1 0 1 0 3 1 0 0 1 0 0 0 0 0 1 1 2
0 0 0 0 2 1 2 2 0 0 0 0 0 1 0 0 0 2
1 0 1 0 0 1 2 1 3 1 1 0 1 0 0 0 0 0
0 0 0 0 1 0 0 3 1 2 0 0 0 2 0 0 0 1
0 0 0 0 0 0 0 1 2 0 1 1 0 0 1 0 1 0
0 0 0 0 1 0 0 1 0 1 0 0 0 1 0 0 0 2
0 0 0 0 0 0 0 0 0 0 0 1 0 0 2 0 1 0
1 0 1 0 0 0 1 0 1 0 1 0 2 0 0 1 0 0

optimal alignment (score 4): GCGACT
GCTACT


